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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 4.65 57.91 | =hst | 0oo ~ 465 1.85 9.37 ZznLst 1.00 | 5.00 ~ 5.00 57.91 | =S | 5,00 ~ 5.00)| 1.85 9.37
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 4.69 58.51 | =hst | 0oo ~ 469\ 1.90 961 znLst 1.00 | 5.00 ~ 5.20 58561 | =N | 5,00 ~ 520 1.90 961
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 5.01 62.48 | =LY | 000 ~ 501 1.96 9.91 znLst 1.00 | 5.00 ~ 5.90 62.48 | =hS | 65,00 ~ 5.90 | 1.96 9.91
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 |1 0.00 ~ 351 44.45 | =hS | 000 ~ 351233 11.80 znLst 1.00 | 5.00 ~ 6.00 44.45 | =nLS | 5,00 ~ 6.00)]233 11.80
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 6.00 75.21 | =LY | 000 ~ 0.00)] 1.68 8.50 znLst 1.00 | 5.00 ~ 6.90 76.21 | #nRSY | 6,00 ~ 6.90 | 1.68 8.50
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ b5.44 67.94 | TS | 000 ~ 544 1.80 9.09 ZznLst 1.00 | 5.00 ~ 6.00 67.94 | =hS | 65,00 ~ 6.00 | 1.80 9.09
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 4.66 58.12 | =hst | 0oo ~ 466|191 9.67 znLst 1.00 | 5.00 ~ 5.20 5812 | =N | 5,00 ~ 520 1.91 9.67
100kN/M%Z#B % % ~ 3ImEHEZD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZnLst ~ Zh s ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHEZD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZnLst ~ Zh s ~ ZnList ~
100kN/M%Z#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhnLst ~ ZhLs ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
ZhLS ~ ZhLst ~ ZhLS ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ 3mEBZ D ~
Zh s ~ ZhList ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZhnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zhs ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
ZzhLst ~ s ~ ZzhLst ~ s ~
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